Oplossing PES2

public static void eindKapitaal(int beginKapitaal, double rentevoet)

{ 


System.out.println("Jaar\t\tEindkapitaal na ... jaar");


DecimalFormat tweeCijfers = new DecimalFormat("0.00");


double hulp;


hulp = beginKapitaal;


for (int teller=1; teller<=5;teller++)


{



hulp = hulp*(1+rentevoet);



System.out.println(teller+"\t\t"+tweeCijfers.format(hulp));


}

}

public static double berekenMeter(int getal)

{ 


return getal*0.3048;


}

public static double oppervlakte(double lengte, double breedte)

{



return lengte*breedte;




}

public static int oppervlakte(int lengte, int breedte)

{



return lengte*breedte;




}

public class Methoden

{

public static void main (String args[])


{



int lengte=12, breedte=10;



double lengteMeter, breedteMeter;



System.out.println(oppervlakte(lengte,breedte));



lengteMeter = berekenMeter(lengte);



breedteMeter = berekenMeter(breedte);



System.out.println(oppervlakte(breedteMeter, lengteMeter));


} 

}
